[image: C:\Users\ASUS\Desktop\Scan_20151012_195725.jpg]





[bookmark: _GoBack][image: C:\Users\ASUS\Desktop\Scan_20151012_200119.jpg]
image1.jpeg
Okrésni prebor = 2015

l.kolo == 3. 40. 4?— -3

1l,HoStice A = Némiany B
2,Néméany A - HrusSky
3.Komorany B VeleSovice B
4 ,Budovice A Hlubolany C
5.Drnovice B Mo Prusy
6eRousinovec A = Slavikovice A

2.,kolo = 4/-10.2}‘,_ N

7.Néméany B = Slavikovice A
8eM.Prusy = Rousinovec A
9.Hlubolany C « Drnovice B
10.VeleSovice B = Budovice A
11.Hrusky - Komorany B
12,Hostice A - Néméany A

3.kolo = AY-(0. 15— S

13.Néméany A Némcany B

14 ,Komorahy B = HoStice A
15,Bucovice A = Hrusky
l6,Drnovice B = VelesSovice B
17.Rousinovec A = Hlubolany C
18.Slavikovice A= M.Prusy

4okolo = 457 A0. 45— N

19,NémCany B = M.Prusy
20.HluboCany C = Slavikovice A
2l.,VeleSovice B = Rousinovec A
22 ,Hrusky = Drnovice B
23.HosStice A - Buovice A

24 ,NémCany A Komorany B
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25.NémCany B - Komorany B
26.Néméany A = Bulovice A
2T7.Drnovice B HoStice A
28,Rousinovec A = HruSky
29,5lavikovice A~ VeleSovice B
30.M, Prusy - Hlubodany C

6ukolo = E./4. (5 n/

31.Néméany B = Hlubolany C
32,VeleSovice B = M,Prusy
33.Hrusky - Slavikovice A
34 .HoStice A = Rousinovec A
35.Drnovice B = Néméany A
36.Komorany B = Budovice A

Tokolo = Al M ¢85 — &

37.Butovice A =
38e¢Drnovice B =
39.Rousinovec A =
40.8lavikovice A=
41,M,Prusy -
42,Hlubolany C =

Néméany B
Komofrany B
Néméany A
HoStice A
Hrusky
VeleSovice B
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43.Néméany B -
44 ,Hrusky -
45,Ho8tice A -
464,5lavikovice A=
4T.Komorany B =
484Buovice A =

9.k°10 -

VelesSovice B
Hlubolany C
Mo Prusy
Néméany A
Rousinovec A
Drnovice B
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49,Drnovice B =
50¢,Rousinovec A =
51leSlavikovice A=
52,NémCany A -
53.Hluboéany C =
54 ,VeleSovice B =

10.k0l0 =

Némdany B
Buovice A
Komorany B
MePrusy
HoStice A
Hrusky
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55.Néméany B -
56,HoStice A -
57.Hlubolany C =
58.Komorany B =
59.BuCovice A =
60¢sDrnovice B =

ll.kolo =

Hrusky
VeleSovice B
Néméany A
MePrusy
Slavikovice A
Rousinovec A
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6l.Rousinovec A =
62.Drnovice B =
63eMcPrusy -
64 ,Hlubotany C =
65.Néméany A -
66 Hrusky -

Némrany B
Slavikovice A
BuCovice A
Komorany B
VeleSovice B
HoStice A
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67.Néméany B -
68 Hrusky -
69.VeleSovice B =
70.,Hlubolany C =
TleMePrusy -
T2e¢Slavikovice A=

13.kolo =

HoStice A
Némcany A
Komofany B
Bulovice A
Drnovice B
Rousinovec A
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T3e.Slavikovice A=
T4 sRousinovec A =
T5¢Drnovice B =
T6eBuCovice A =
T7.Komorany B =
78N éméany A -

14 ,ko0lo =

Néméany B
Me.Prusy
Hlubolany C
VeleSovice B
Hrusky
HoStice A
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103.Némiany B
104 .Komorany B
105.Némdany A
106.,HoStice A
107.Hrusky

108.VeleSovice B =

Budovice A
Drnovice B
Rousinovec A
Slavikovice A
MePrusy
Hlubolany C

19.kolo = A*-2. /6 — <

T9.Néméany B -
80,HoStice A -
8l.Hrusky -
82.VeleSovice B =
83e.Hlubolany C =

Némcany A
Komorany B
Bulovice A
Drnovice B
Rousinovéc A

84 Mo Prusy - Slavikovice A
15.,kolo = 3p.4. {6 — S
85.M«Prusy - Néméany B

86eSlavékovice A=
8T7e.Rousinovec A =
88eDrnovice B =
89.,Bulovice A =
90.Komorany B =

16.kolo =

Hlubolany C
VeleSovice B
Hrusky
HoStice A
NémCany A
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91l.Komorany B =
92.Bucovice A =
93.HoStice A -
94 ,Hrusky -
95.VelesSovice B =
96.HluboCany C =

17.kolo =

Némcéany B
Néméany A
Drnovice B
Rousinovec A
Slavikovice A
MePrusy
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109.,VelesSovice B
110.Hlubocany C
111.MePrusy

112 NémCany A
113,Rousinovec A
114 .Drnovice B

Néméany B
Hrusky
HoStice A
Slavikovice A
Komorany B
Budovice A

20.kolo = ,G,z_{Zf nJ

115,NémCany B
116,Bucovice A =
117.Komorany B
118¢Me¢ Prusy

119,HoStice A -
120.Hrusky

Drnovice B
Rousinovec A
Slavikovice A
Néméany A
Hlubolany C
Veledovice B
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121,.Hrusky
122,VeleSovice B =
1l23,Némcany A -
124 .M. Prusy
125,.Slavikovice A=
126¢Rousinovec A =

22,kolo = 0.2 f4—N

Néméany B
HoStice A
Hlubolany C
Komorany B
Bucovice A
Drnovice B

97.Hlubocany C =
98.Me.Prusy -
99.Slavikovice A=
100,Rousinovec A =
101l.NémCany A -
102,Buovice A =

Néméany B
VeleSovice B
Hrusky
HoStice A
Drnovice B
Komorany B

127,Némcany B -
128.Slavikovice A=
129,Budovice A =
130.Komorany B =
131l.VeleSovice B =
132.HoStice A -

Rousinovec A
Drnovice B
Me.Prusy
Hlubolany C
Némcany A
Hrusky




